Year 2 Multiplication - Maths Day 3 						3.6.2020  
Repeated Addition
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Number Shape Repeated Addition
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Challenge: Ben says, “4 x 5 is the same as 2 10"

Is he correct? Use your number shapes to show how you know.
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Multiplication as Repeated Addition

1 ladybird has 2 spots.
2 1x2=2
How many spots do 2 ladybirds have?
242-
242~
2+2+2=
e~ 4x2=
5x2-
1 flower has 5 petals.
5
How many petals do 2 flowers have?
5+5= 2x5=
How many petals do 3 flowers have?
e e_- 3x5=
How many petals do 4 flowers have?
4x5-=
How many petals do 5 flowers have?





